Oesatbin ypok Elementary
There was / There were

B xonoaunbHuke 6610 S10M0OKO. There was an apple in the fridge. an apple — eguHCTB. YMcno => was
B moem cyne 6bina myxa. There was a fly in my soup. a fly — equncTe. uncno => was

B napke 6bina xxeHLymHa. There was a woman in the park. a woman — eVHCTB. YACNOo => was
B 6yTbinke Gbina Boaa. There was some water in the bottle. water — euHCTB. Yucno => was

YTpom Ha Tapenke 6bino nupoxHoe. | There was a cake on the plate in the a cake —eauHCTB. Yncro => was
morning.

Buepa Beuepom no tenesu3opy 6bin | There was a good film on TV yesterday |a film — eanHcTs. uncno => was
XopoLumi unbm. evening.

B nome 6bIno YeTbipe KOMHAaThI. There were four rooms in the house. rooms — MHOX. YNCNO => were

B oTene 6bIno MHOro noaen. There were many people in the hotel.  |people — mHoX. Yucno => were

B pectopaHe 6bino gsa oguumaHTa. | There were two waiters in the waiters — MHOX. Yncrno => were
restaurant.

B cymke 6bIn0 MHOMO KHUT. There were a lot of books in the bag. books — MHOX. 4ucno => were

B deBpane 6bino 28 aHen. There were 28 days in February. days — MHOX. uncrno => were

Ha npownon Hegene Ha BedepuHke | There were about fifty people at the people — MHOX. Y1cro => were

6bino okono 50 yenosek. party last week.

B 18 Beke 3gech Gbina uepkoBb. There was a church here in XVIII a church — eauHCTB. Yucno => was
century.

B marasuHe He 6bIno mMoroka. There wasn't any milk in the shop. milk — eAUHCTB. Yncrno => was

B mawwuHe 6bino gBa pebeHka. There were two children in the car. children — MHOX. uncno => were

Ha nonke He GbINO KHW. There were no books on the shelf. books — MHOX. uncno => were

MpoLunoi HoYbto B TBOEM cagy 6bin | There was a bear in your garden last ~ |a bear - eguHcTB. Yncno => was
MeaBedb. night.

[lecaTb net Ha3aj B 3TOM napke There were many fountains in this park |fountains — mHox. Yucno => were
ObIN0 MHOro PoHTaHOB. 10 years ago.

[aTb MecqaueB Ha3ag B 300Mapke There were four tigers in the zoo five tigers — MHOX. uncno => were
ObINo YeTbipe TUrpa. months ago.

B aTom TekcTe ObINo TPU HOBbLIX There were three new words in the text. |words — MHOX. yncno => were
cnosa.

Yepes 3Ty peky He Obino mocTa. There wasn’t a bridge on this river. a bridge — eavHCTB. Yy1cno => was
B moem kapmaHe He 6bino geHer. | There was no money in my pocket. money — e4UHCTB. Y1cno => was
B rapaxe 6bino ABe MaLUMHbL. There were two cars in the garage. cars — MHOX. Yncno => were

Ha nony 6bina Boaa. There was water on the floor. water — euHCTB. Yucno => was

Ha kyxHe 6bin cTon 1 YeTbipe ctyna. There was a table and four chairs in the |a table —egnHcTB. Yncno => was npu

kitchen nepeuuncrneHunm to be cornacyercs Tonbko ¢
nepBbIM CyLEeCTBUTENbHbLIM
Ha kyxHe ObIno YeTbipe cTyna u There were four chairs and a table in chairs — MHOX. YMCIIO => were npu
cTOn. the kitchen. nepeuuncneHunm to be cornacyercs Tonbko ¢
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